RESOLUTION NO. 37-05 CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER Robert Corbin ON THE 15th DAY OF August , 2005.

A RESOLUTION ACCEPTING THE BID SUBMITTED BY FLORA EXCAVATING, FOR THE VILLAGE SOUTH DITCH AND IRON HORSE PARK DETENTION IMPROVEMENT PROJECT- 2005, IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the Village South Ditch and Iron Horse Park Detention Improvement Project - 2005, in the City of Centerville according to specifications prepared by the City, and

WHEREAS, Flora Excavating, was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by Flora Excavating, for the Village South Ditch and Iron Horse Park Detention Improvement Project - 2005, marked as exhibit "A" attached hereto and made a part hereof be and is hereby accepted in the amount of \$83,916.00, and the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

PASSED this 15th day of August Mayor of the City of Centerville, Ohio ATTEST: Clerk of Council, City of Centerville, Ohio **CERTIFICATE** The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 37-05 passed by the Council of the City of Centerville, Ohio on the 15th day of August , 2005.

Approved as to form, consistency with existing Ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A Liberman Municipal Attorney

BIDDER'S PROPOSAL

VILLAGE SOUTH DITCH AND IRON HORSE PARK DETENTION IMPROVEMENT PROJECT - 2005

Submitted by:

Having read the specifications and examined the drawings included herein:

Village South Ditch and Iron Horse Park Detention Improvement Project - 2005 City of Centerville, Ohio

for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:

A.	STATEMENT BY ALL BIDDERS:				
	The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.				
	Addenda No Date				
	Addenda No Date				
В.	COMPLETION DATE INFORMATION				
	The bid price reflected above represents a completion date of November 18, 2005. If an alternate completion date is proposed, it shall be specified hereafter.				
	ALTERNATE COMPLETION DATE:				
C.	CONTRACT PREPARATION INFORMATION				
	The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.				
NAME	FLORA EXCAVATING Div. of OF COMPANY/CORPORATION: RICHLAND GARDENS Inc.				
	OF PRESIDENT: AARON FLORA				
ADDR	ESS: 6914 U.S. 36 EAST				
CITY,	STATE, ZIP GREENVILLE, OHIO 45331				
FEDER	RAL TAX I.D. # : 31-1506881				
TELEF	PHONE #: (937) 548-5303				
FAX#	: (937) 547-9406				

UNIT I	PRICE SHEET				1
	PROJECT NUMBER: SS-6A-05 & SS-6C-05				
PROJ	ECT NAME: Village South Ditch Improvement &	fron Horse	Detention Ba	sin Improveme	nt Projects
THE C	TITY OF CENTERVILLE MATERIAL AND CONSTRUC	TION SPEC	IFICATIONS	ARE PART OF	THIS PROPOSAL AND
	BE REFERENCED FOR A MORE COMPLETE DESCRI				
COPY	OF PROPERLY SIGNED PROPOSAL TOGETHER WI	TH THE EX	ECUTED FOR	MS.	
		10 100			
REF.	Part 1 - Village South Ditch Improvements (SS-6	A-05) EST'D		UNIT	AMOUNT
NO.	DESCRIPTION	QUANT.	UNITS	PRICZ	BID
1	Clearing and Grubbing (up to 12")	1	Lump Sum	2500.00	2500.00
2	Filter Fabric Ditch Check	100	FT	5.00	500.00
3	Ditch Cleanout	1250	FT	29.00	36250.00
4	12" HDPE Perforated Pipe	1200	FT	10.50	12600.00
5	Erosion Control Mat	1000	SY	4.50	4500.00
6	Seeding and Mulching	1	Lump Sum	5000.00	5000.00
7*	Tree Removal 12" - 24", Including Stump	2	Each	600.00	1200.00
8*	Tree Removal 24" - 36", Including Stump	2	Each	850.00	1700.00
9*	Storm Sewer, 15" RCP (Cl 4). Including Backfill	8	FT	49.00	392.00
10*	Storm Sewer, 24" RCP (Cl 4). Including Backfill	8	FT	57.00	456.00
11*	Storm Sewer, 30" RCP (Cl 4), Including Backfill	8	FT	68.00	544.00
12*	Storm Sewer, 36" RCP (Cl 4). Including Backfill	8	FT	78.00	624.00
			SUB-TOTA	L PART 1	66266.00
	Part 2 - Iron Horse Detention Basin Improvemen	Detention Basin Improvements (SS-6C-05)			
13	Clearing and Grubbing	ı	Lump Sum	2500.00	2500.00
14	Tree Removal, 12", Including Stump	2	Each	450.00	900.00
15	Excavation	1	Lump Sum	6000.00	6000.00
16	Seeding and Mulching	1	Lump Sum	1500.00	1500.00
17	Rock Channel Protection, Type D w/filter fabric	24	CY	75.00	1800.00
18	Pipe Debris Guard, As Per Plan	10	Each	175.00	1750.00
19	Dumped Rock Fill. Type B	45	CY	40.00	1800.00
20**	Erosion Control Mat	100	SY	6.00	600.00
21**	Paved Gutter, As Per Plan	65	FT	40.00	2600.00
21	raved dutier, ris i er i tan		SUB-TOTA	- Andrew Control of the Control of t	(17700.00)
			JOD TOTAL		
		GRAND	TOTAL PAR	RT 1 AND 2	\$83,966.00
	DEDUCT LINE ITEM 17		TOTAL PA		\$82,166.00
		GRAND	TOTAL PR	MI IMMUZ	#UZ/100:00
	*Contingent, use as directed by City Engineer				
	**Referenced Items 20 and 21 should be bid as a re-	placement al	ternate to Iten	117	

51

7/1

D.	EXECUTION OF PROPOSAL			
NOTE: Failure to sign proposal shall result in rejection of bid.				
Flora Excavating, Div. of THIS PROPOSAL SUBMITTED BY: Richland Gardens, Inc.				
	(NAME OF CONTRACTOR)			
BY:_	Secretary - Treasurer Edward Flora			
	(SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)			
DATE	: August 4, 2005			
Contact person for Contract processing: Timothy Flora				
Mailing address if different from above:				